1	BILL NO. S-18-11-06 SPECIAL ORDINANCE NO. S
2	
3	AN ORDINANCE approving ARDMORE AVENUE IMPROVEMENTS - AIRPORT EXPRESSWAY TO SECOND STREET - RESOLUTION #0184N – (\$3,683,397.24) between
4	E&B PAVING INC. and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.
5	NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE
6	CITY OF FORT WAYNE, INDIANA:
7	SECTION 1. That the ARDMORE AVENUE IMPROVEMENTS - AIRPORT
8	EXPRESSWAY TO SECOND STREET - RESOLUTION #0184N - by and between E&B PAVING
9	INC. and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby
10	ratified, and affirmed and approved in all respects, respectfully for:
11	All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for widening of the roadway to 3
12	lanes with curb and gutters along with stormwater improvements, a trail on the east side of the roadway, signal improvements and improved directional
13	signage;
14	involving a total cost of THREE MILLION SIX HUNDRED EIGHTY-THREE THOUSAND THREE
15	HUNDRED NINETY-SEVEN AND 24/100 DOLLARS - (\$3,683,397.24). A copy of said Contract is
16	on file with the Office of the City Clerk and made available for public inspection, according to law.
	SECTION 2. That this Ordinance shall be in full force and effect from and after its
17	passage and any and all necessary approval by the Mayor.
18	
19	
20	Council Member
21	
22	APPROVED AS TO FORM AND LEGALITY
23	
24	Carol Helton, City Attorney
25	
26	
27	
28	



IMPROVEMENT RESOLUTION NO. 0184N

Ardmore Avenue Improvements – Airport Expressway to Second Street WORK ORDER NO. 0184N

RESOLVED BY THE BOARD OF PUBLIC WORKS OF THE CITY OF FORT WAYNE, INDIANA.

That it is deemed necessary to improve:

Ardmore Avenue from Airport Expressway to Second Street by widening Ardmore to three lanes - a single lane in each direction with a center turn lane. This includes street widening, storm drainage, street lighting, trail, curb and gutter, and landscaping.

All in accordance with the details, drawings, and specifications on file in the office of the Department of Public Works of said City; and such improvement is now ordered.

It is hereby found by said Board of Public Works that all benefits accruing hereunder will be to the general public of the City of Fort Wayne and that no special benefits will accrue to any property owner adjoining said improvement or otherwise assessable under said improvement. The cost of said improvement shall be paid 100% by the City of Fort Wayne.

Adopted this day ofOCTO	ber	_, 20/6,
BOARD OF PUBLIC WORKS		
Maulton		
Shan Gunawardena, Chairman		
Mike Wila		
Mike Avila, Member		-
Kumar Menon, Member		
ATTEST:		
Michalla Full Clark		

						l bast	bid column	1			
		Bidder's Bond Street Barricad EBE Declaratio E-Verify Affidav Addendum No. Addendum No. Addendum No. Addendum No.	ancial Statemen e Maint Info n Form it 1 2			X X X X X X X X X X X	ы сошт			THE CONTRACTOR OF THE CONTRACT	1
				TOTAL:	\$4,418,998.85	TOTAL	\$3,683,397.24	TOTAL:	\$3,683,589.00	TOTAL:	\$3,698,645,77
Bid 1	Fabulation					% over % under		% over % under		% over	0.00% 16.30%
proj: Bid	Ardmore Avenue Improvements		RES, NO.; W.O. NO.;	0164N 0184N		BIDDER:	E&B Paving, inc.	BiDDER:	Brooks Construction	BIDDER:	Wayne Asphalt & C
Date: ITEM NO.	10/23/18 ITEM DESCRIPTION	PLAN QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (\$)	UNIT COST (\$)	AMOUNT (\$)	UNIT COST (\$)	AMOUNT (\$}	UNIT COST	AMOUNT (\$)
4	MAINTENANCE OF TRAFFIC	1	LS	\$122,500.00	\$122,500.00	\$10,445.00	\$10,445.00	\$218,031.51	\$218,031.51	\$164,500.00	\$164,500.00
	CONSTRUCTION ENGINEERING	1	LS	\$74,200.00	\$74,200.00	\$24,090.00	\$24,090.00	\$25,000.00	\$25,000.00	\$72,200.00	\$72,200.00
3	CLEARING RIGHT-OF-WAY	1	£S	\$88,800.00	\$88,800.00	\$96,708.00	\$96,708.00	\$100,000.00	\$100,000.00	\$156,000.00	\$156,000,00
	MOBILIZATION AND DEMOBILIZATION	1	LS	\$185,500.00	\$185,500.00	\$184,000,00	\$184,000.00	\$184,000.00	\$184,000.00	\$182,000.00	\$182,000,00
	EXCAVATION, COMMON	5720	CYS	\$31.00	\$177,320.00	\$13.92	\$79,622.40	\$13.92	\$79,622.40	\$14.00	\$80,080,00
E	BORROW	9318	cys	\$35.00	\$326,130,00	\$4.71	\$43,887.78	\$4.71	\$43,887.78	\$5.00	\$46,590.00
7	SUBGRADE EXCAVATION (UNDISTRIBUTED)	500	CYS	\$45.00	\$22,500.00	\$40.38	\$20,190,00	\$40.38	\$20,190.00	\$41.00	\$20,500.00
8	GEOGRID (UNDISTRIBUTED)	1470	SYS	\$6.00	\$8,820.00	\$4.64	\$6,820,80	\$4.64	\$6,820.80	\$4.75	\$6,982.50
9	COMPACTED AGGREGATE No. 53, BASE	6498	TON	\$30.00	\$194,940.00	\$15.69	\$101,953.62	\$15.69	\$101,953.62	\$16.00	\$103,968.00
10	BASE COARSE MATERIAL	12	TON	\$32.00	\$384.00	\$30.00	\$360.00	\$30,00	\$360.00	\$30.00	\$360.00
11	AGGREGATE No. 2 CHOKED WITH 10FF	224	TON	\$35.00	\$7,840.00	\$15.69	\$3,514.56	\$15.69	\$3,514.56	\$16.00	\$3,584.00
12	COMPACTED AGGREGATE No. 73	2	тон	\$45.00	\$90.00	\$100.00	\$200,00	\$100,00	\$200.00	\$100.00	\$200.00
13	SPECIAL BACKFILL BACKFILL No. 53/73	2474	cys	\$35.00	\$86,590.00	\$29.88	\$73,923,12	\$29.88	\$73,923.12	\$30.00	\$74,220.00
14	DELETED	. 0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00
15	HMA MILLING, 1.5"	101	SYS	\$2.00	\$202.00	\$23.00	\$2,323.00	\$28,00	\$2,828.00	\$1.75	\$176.75

Reirof 02-13-01

			·				1				
16	HMA MILLING, VARIABLE DEPTH	14986	sys	\$3.50	\$52,451.00	\$2.75	\$41,211.50	\$2.00	\$29,972.00	\$1.75	\$26,225.50
1	HMA FOR PATCHING, TYPE B	264	TON	\$95.00	\$25,080.00	\$130,00	\$34,320.00	\$163.00	\$43,032.00	\$110.00	\$29,040.00
18	HMA MIXTURE FOR PATH, TYPE B	738	TON	\$70.00	\$51,660.00	\$94.00	\$69,372.00	\$66,00	\$48,708.00	\$85.00	\$62,730.00
15	HMA SURFACE, 9.5 mm, TYPE B	1988	TON	\$75.00	\$149,100.00	\$71.00	\$141,148,00	\$59,00	\$117,292.00	\$70.00	\$139,160.00
20	HMA INTERMEDIATE, 12.5 mm, TYPE B	3299	TON	\$70.00	\$230,930.00	\$69.00	\$227,631,00	\$49.00	\$161,651.00	\$55.00	\$181,445.00
2	HMA BASE, 19.0 mm, FOR WEDGE AND LEVELING, TYPE B	324	TON	\$73,00	\$23,652.00	\$68.00	\$22,032.00	\$63.00	\$20,412.00	\$65.00	\$21,060.00
22	HMA BASE, 19.0 mm, TYPE B	3641	TON	\$65.00	\$236,665.00	\$68.00	\$247,588.00	\$54.00	\$196,614.00	\$65.00	\$236,665.00
23	DELETEO	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24	HMA MIXTURE FOR TEMPORARY PAVEMENT, TYPE A	250	TON	\$75.00	\$18,750.00	\$125.00	\$31,250.00	\$135,00	\$33,750.00	\$150.00	\$37,500.00
25	HMA MIXTURE FOR APPROACH, TYPE B	130	TON	\$85,00	\$11,050,00	\$120.00	\$15,600.00	\$85.00	\$11,050.00	\$100,00	\$13,000.00
26	CONCRETE CURB & GUTTER TYPE II-B	11640.5	LFT	\$20.00	\$232,810.00	\$19.00	\$221,169.50	\$16.50	\$192,068.25	\$14.00	\$162,967.00
27	CONCRETE CURB & GUTTER TYPE II-B, TEMPORARY	32	LFT	\$25.00	\$800.00	\$80.00	\$2,560.00	\$100.00	\$3,200,00	\$25.00	\$800.00
28	CONCRETE CUB AND GUTTER TURNOUT TYPE A	10	ΕA	\$250.00	\$2,500.00	\$515.00	\$5,150.00	\$325.00	\$3,250.00	\$300.00	\$3,000.00
29	CONCRETE CUB AND GUTTER TURNOUT TYPE B	5	EA	\$350.00	\$1,750.00	\$595.00	\$2,975.00	\$600.00	\$3,000.00	\$600.00	\$3,000.00
30	CONCRETE CENTER CURB TYPE D	8.6	sys	\$60.00	\$516,00	\$395.00	\$3,397.00	\$225.00	\$1,935.00	\$145.00	\$1,247.00
31	CONCRETE CURB RAMP, 6'	104.7	SYS	\$150.00	\$15,705,00	\$165.00	\$17,275.50	\$135.00	\$14,134.50	\$125,00	\$13,087.50
32	CONCRETE PAVEMENT FOR RESIDENTIAL DRIVEWAY, 5"	306.9	sys	\$60.00	\$18,414.00	\$65,00	\$19,948.50	\$60.00	\$18,414.00	\$45.00	\$13,810.50
33	CONCRETE PAVEMENT FOR COMMERCIAL DRIVEWAY, 8"	1941.3	SYS	\$65.00	\$126,184.50	\$70.00	\$135,891,00	\$65.00	\$126,184.50	\$60.00	\$116,478.00
34	DETECTABLE WARNING PANEL	8	EΑ	\$155.00	\$1,240.00	\$115,00	\$920.00	\$150.00	\$1,200.00	\$220.00	\$1,760.00
35	HYDROSEEDING	23745	sys	\$1.00	\$23,745.00	\$1,50	\$35,617.50	\$1.50	\$35,617.50	\$1.50	\$35,617.50
36	RIPRAP, REVETMENT WITH GEOTEXTILE	210	sys	\$40.00	\$8,400.00	\$30.00	\$6,300.00	\$30.00	\$6,300.00	\$30.00	\$6,300.00
37	RIVER STONE WITH GEOTEXTILE	24	sys	\$40.00	\$960.00	\$16.33	\$391.92	\$81.33	\$1,951.92	\$18.00	\$432.00
38	PAVEMENT UNDERDRAIN STRUCTURE	10771	LFT	\$14.00	\$150,794.00	\$9.89	\$106,525.19	\$9.89	\$106,525.19	\$10.00	\$107,710.00
39	UNDERDRAIN OUTLET & PROTECTOR	4	EA	\$2,000.00	\$8,000.00	\$643,50	\$2,574.00	\$643.50	\$2,574.00	\$650.00	\$2,600.00
40	CONSTRUCTION SIGN, TYPE A	38	EA	\$300.00	\$11,400.00	\$175.00	\$6,650.00	\$175.00	\$6,650.00	\$175.00	\$6,650.00
41	CONSTRUCTION SIGN, TYPE B	43	EA	\$100.00	\$4,300.00	\$100.00	\$4,300,00	\$100.00	\$4,300.00	\$100.00	\$4,300.00
42	DETOUR ROUTE MARKER ASSEMBLY	24	EA	\$150.00	\$3,600.00	\$75.00	\$1,800,00	\$75.00	\$1,800.00	\$75.00	\$1,800.00

43 ROUTE MARKER ASSEMBLY	4	EA	\$150.00	\$600.00	\$75.00	\$300.00	\$75,00	\$300.00	\$75.00	\$300.00
44 STANDARD BARRICADE, III-B	424	LFT	\$30.00	\$12,720.00	\$8.00	\$3,392,00	\$8,00	\$3,392.00	\$8.00	\$3,392.00
45 ROAD CLOSURE SIGN ASSEMBLY	3	EA	\$400.00	\$1,200.90	\$150.00	\$450.00	\$150.00	\$450,00	\$150.00	\$450.00
46 TEMPORARY PAVEMENT MARKINGS, REMOVABLE, 4"	25270	LFT	\$0.50	\$12,635.00	\$0.90	\$22,743.00	\$0.90	\$22,743,00	\$1,00	\$25,270.00
47 TEMPORARY PAVEMENT MARKINGS, PAINT, 4"	9575	LFT	\$0.40	\$3,830.00	\$0.18	\$1,723.50	\$0.18	\$1,723.50	\$0.18	\$1,723.50
TEMPORARY PAVEMENT MARKINGS, REMOVABLE, STOP 48 LINE, 24"	62	LFT	\$5.00	\$310.00	\$1.75	\$108.50	\$1.75	\$108.50	\$1.75	\$108,50
TEMPORARY PAVEMENT MESSAGE MARKINGS, 49 REMOVABLE, ARROW	7	EA	\$60,00	\$420.00	\$34.00	\$238.00	\$34.00	\$238.00	\$34.00	\$238.00
50 FŁOWABLE FILL	21	cys	\$350,00	\$7,350.00	\$80.00	\$1,680.00	\$80.00	\$1,680.00	\$80,00	\$1,680.00
51 CASTING, ADJUSTED TO GRADE	26	EA	\$240,00	\$6,240.00	\$650.00	\$16,900.00	\$375.00	\$9,750.00	\$400,00	\$10,400.00
52 RCP CL_IV, 12*	566	LFT	\$55.00	\$31,130.00	\$50,76	\$28,730.16	\$50.76	\$28,730.16	\$51.00	\$28,866,00
53 RCP CL (V, 15°	146	LFT	\$60,00	\$8,760.00	\$54.74	\$7,992.04	\$54.74	\$7,992.04	\$54.75	\$7,993.50
54 RCP CL. IV, 30'	68	LFT	\$100.00	\$6,800.00	\$102.09	\$6,942.12	\$102.09	56,942.12	\$103.00	\$7,004.00
55 POLYPROPYLENE PIPE, 12"	442	LFT	\$45.00	\$19,890.00	\$45.33	\$20,035.86	\$45,33	\$20,035.86	\$45.50	\$20,111.00
56 POLYPROPYLENE PIPE, 15 "	160	LFT	\$65.00	\$10,400.00	\$55.86	\$8,937,60	\$55.86	\$8,937.60	\$56.00	\$8,960.00
57 POLYPROPYLENE PIPE, 18 "	289	LFT	\$75.00	\$21,675.00	\$55,93	\$16,163.77	\$55.93	\$16,163.77	\$56.00	\$16,184.00
58 POLYPROPYLENE PIPE, 21"	1590	LFT	\$90.00	\$143,100.00	\$64.60	\$102,714.00	\$64.60	\$102,714.00	\$65.00	\$103,350.00
59 POLYPROPYLENE PIPE, 24 P	606	LIFT	\$125.00	\$75,750.00	\$79.60	\$48,237.60	\$79.60	\$48,237.60	\$80.00	\$48,480.00
60 POLYPROPYLENE PIPE, 27"	103	LFT	\$175.00	\$18,025.00	\$115.83	\$11,930.49	\$115,83	\$11,930.49	\$116.00	\$11,948.00
61 POLYPROPYLENE PIPE, 30 "	30	LFT	\$250.00	\$7,500.00	\$105.00	\$3,150.00	\$105,00	\$3,150.00	\$105.00	\$3,150.00
62 POLYPROPYLENE PIPE, 36 "	157	ŁFT	\$350.00	\$54,950.00	\$111.51	\$17,507.07	\$111.51	\$17,507.07	\$112.00	\$17,584.00
63 HECP,CL III, 34'x53'	198	ᄩ	\$155.00	\$30,690.00	\$286.29	\$56,685.42	\$286.29	\$56,685.42	\$287,00	\$56,826.00
64 INLET TYPE II-B	32	EA	\$2,550.00	\$81,600.00	\$1,574.00	\$50,368.00	\$1,574.00	\$50,368.00	\$1,575,00	\$50,400.00
65 INLET TYPE I-C	7	EA	\$1,750.00	\$12,250.00	\$1,135.73	\$7,950.11	\$1,135.73	\$7,950.11	\$1,136.00	\$7,952.00
66 MANHOLE TYPE I-A	11	£Α	\$2,800.00	530,800,00	\$1,874.41	\$20,618.51	\$1,874.41	\$20,618.51	\$1,875.00	\$20,625.00
67 MANHOLE TYPE II-A	5	EA	\$3,000.00	\$15,000.00	\$2,811.03	\$14,055.15	\$2,811.03	\$14,055,15	\$2,815.00	\$14,075.00
68 MANHOLE TYPE III-C	. 1	EA	\$4,000.00	\$4,000.00	\$5,046.45	\$5,046.45	\$5,046.45	\$5,046.45	\$5,050.00	\$5,050.00
69 DETENTION DITCH WEIR STRUCTURE	2	EA	\$7,500.00	\$15,000.00	\$6,750.00	\$13,500.00	\$6,750.00	\$13,500.00	\$6,750.00	\$13,500.00

70 PIPE END SECTION, 12"	11	EA	\$250.00	\$2,750.00	\$302,95	\$3,332.45	\$302.95	\$3,332.45	\$305.00	\$3,355.00
71 PIPE END SECTION, 15"	3	EA	\$285.00	\$855,00	\$359,54	\$1,078.62	\$359.54	\$1,078.62	\$360.00	\$1,080.00
72 PIPE END SECTION, 18"	2	EA	\$350.00	\$700.00	\$371.73	\$743,46	\$371.73	\$743.46	\$375.00	\$750.00
73 PIPE END SECTION, 36"	1	EA	\$450.00	\$450.00	\$710.00	\$710.00	\$710.00	\$710.00	\$710.00	\$710.00
74 PIPE ANCHOR, 34"x53"	2	EA	\$2,500.00	\$5,000.00	\$2,790.00	\$5,580.00	\$2,790.00	\$5,580.00	\$2,800.00	\$5,600.00
75 DUCKBILL CHECK VALVE, 12"	2	EA	\$2,000.00	\$4,000.00	\$2,588.40	\$5,176,80	\$2,588.40	\$5,176,80	\$2,600.00	\$5,200.00
76 DUCKBILL CHECK VALVE, 15"	2	EA	\$2,506.00	\$5,000.00	\$3,282.30	\$6,564.60	\$3,282,30	\$6,564.60	\$3,300.00	\$6,600.00
77 DUCKBILL CHECK VALVE, 27*	1	EA	\$4,500.00	\$4,500.00	\$8,109.30	\$8,109.30	\$8,109,30	\$8,109.30	\$8,200.00	\$8,200.00
78 CONCRETE, CLASS A	0.6	cys	\$450.00	\$270.00	\$4,650.00	\$2,790,00	\$4,650.00	\$2,790.00	\$4,650.00	\$2,790.00
79 TEMPORARY EROSION NO SEDIMENT CONTROL	1	LS	\$18,500.00	\$18,500.00	\$10,200.00	\$10,200.00	\$12,700.00	\$12,700.00	\$10,200.00	\$10,200.00
80 WATERMAIN LOWERING	3	EA	\$2,100.00	\$6,300.00	\$10,550.00	\$31,650.00	\$10,550.00	\$31,650.00	\$10,550.00	\$31,650.00
81 WATER MAIN CROSSING	1	LS	\$3,200.00	\$3,200.00	\$10,000.00	\$10,009.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00
82 WATER VALVE BOX ADJUSTMENT	14	EA	\$750.00	\$10,500.00	\$250.00	\$3,500.00	\$250,00	\$3,500,00	\$250.00	\$3,500.00
83 VERTICAL FIRE HYDRANT ADJUSTMENT	5	EA	\$975.00	\$4,875.00	\$1,400.00	\$7,000.00	\$1,400.00	\$7,000.00	\$1,400.00	\$7,000.00
84 SHEET SIGN WITH LEGEND, 0.08 IN.	132	SFT	\$20.00	\$2,640.00	\$15.00	\$1,980.00	\$15.00	\$1,980.00	\$20.00	\$2,640.00
85 SIGN POST, U-CHANNEL	235	LFT	\$10.00	\$2,350.00	\$10.00	\$2,350.00	\$10.00	\$2,350.00	\$20.00	\$4,700.00
PEDESTRIAN SIGNAL HEAD, INTERNATIONAL SYMBOL, 88 18 WITH COUNTDOWN	4	EA	\$650.00	\$2,600.00	\$700.00	\$2,800.00	\$700.00	\$2,800.00	\$650.00	\$2,600,00
87 GALVANIZED STEEL CONDUIT, 2" (SIGNAL)	290	ŁFT	\$20.00	\$5,800.00	\$20.00	\$5,800.00	\$20.00	\$5,800.08	\$35.00	\$10,150,00
PEDESTRIAN PUSH BUTTON WITH SIGN AND AUDIBLE 88 CONFORMATION	4	EA	\$1,000.00	\$4,000,00	\$800.00	\$3,200.00	\$800,00	\$3,200.00	\$875.00	\$3,500,00
89 PEDESTAL FOUNDATION, A	3	EA	\$700.90	\$2,100,00	\$600.00	\$1,800.00	\$600.00	\$1,800.00	\$800,00	\$2,400.00
90 SIGNAL POLE, PEDESTAL, 12'	_3	EA	\$800.00	\$2,400.00	\$1,000,00	\$3,000.00	\$1,000.00	\$3,000.00	\$850,00	\$2,550.00
91 DETECTOR HOUSING	2	EA	\$750.00	\$1,500.00	\$600,00	\$1,200.00	\$600.00	\$1,200.00	\$600.00	\$1,200.00
92 DETECTOR HOUSING, ADJUSTED TO GRADE	1	EA	\$250.00	\$250,00	\$200.00	\$200.00	\$200.00	\$200.00	\$400.00	\$400,00
93 HANHOLE, SIGNAL TYPE 1	1	EA	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$800.00	\$800.00	\$1,100.00	\$1,100.00
94 SAW SLOT FOR ROADWAY LOOP AND SEALANT	335	LFT	\$10.00	\$3,350.00	\$10,00	\$3,350.00	\$10.00	\$3,350.00	\$9.00	\$3,015.00
95 SIGNAL CABLE 3c/14	415	LFT	\$1.50	\$622.50	\$1.00	\$415.00	\$1.00	\$415.00	\$2.25	\$933.75
96 SIGNAL CABLE 7c/14	270	LFT	\$3.50	\$945,00	\$2.00	\$540.00	\$2.00	\$540.00	\$3.00	\$810.00

				-							
97	SIGNAL CABLE 12c/14	210	LFT	\$2.75	\$577.50	\$3,00	\$630.00	\$3.00	\$630.00	\$3.50	\$735.00
98	SIGNAL CABLE ROADWAY LOOP 1c/14	1110	LFT	\$1.65	\$1,831.50	\$1.00	\$1,110.00	\$1.00	\$1,110.00	\$1.25	\$1,387.50
99	SIGNAL CABLE 2c/16 (SHELDED)	827	ᄠ	\$1.00	\$827.00	\$1.00	\$827,00	\$1.00	\$827.00	\$4.00	\$3,308.00
100	LINE, EPOXY PAINT, BROKEN WHITE, 4"	20	LFT	\$1.00	\$20.00	\$0.22	\$4.40	\$0.22	\$4.40	\$0.22	\$4.40
101	LINE, EPOXY PAINT, SOLID WHITE, 4"	710	LFT	\$0.60	\$426.00	\$0.17	\$120.70	\$0.17	\$120.70	\$0.17	\$120,70
102	LINE, EPOXY PAINT, BROKEN YELLOW, 4"	3080	LFT	\$0,75	\$2,310.00	\$0.22	\$677.60	\$0,22	\$677.60	\$0.22	\$677.60
103	LINE, EPOXY PAINT, SOLID YELLOW, 4"	12405	பா	\$0.60	\$7,443.00	\$0.17	\$2,108.85	\$0,17	\$2,108.85	\$0.17	\$2,108.85
	LINE, EPOXY PAINT, SOLID YELLOW, 8"	1047	மா	\$0.80	\$837.60	\$0.31	\$324.57	\$0.31	\$324.57	\$0.31	\$324.57
	TRANSVERSE MARKING, THERMOPLASTIC, PIANO CROSSWALK, 24°	305	LFT	\$5.00	\$1,525.00	\$5.25	\$1,601,25	\$5.25	\$1,601.25	\$5,25	\$1,601.25
	PAVEMENT MESSAGE MARKING, THERMOPLASTIC, LANE INDICATION, ARROW	38	EA	\$185,00	\$7,030.00	\$75.00	\$2,850.00	\$75.00	\$2,850.00	\$75.00	\$2,850.00
107	TRANSVERSE MARKINGS, THERMOPLASTIC, STOP LINE, 24 IN	188	LFT	\$15.00	\$2,820.00	\$5.2 5	\$987.00	\$5.25	\$987,00	\$5.25	\$987.00
	TRANSVERSE MARKING, EPOXY PAINT, SOLID CROSSHATCH, YELLOW, 12'	380	LFT	\$12,00	\$4,560.00	\$4.50	\$1,710.00	\$4.50	\$1,710.00	\$4.50	\$1,710.00
109	TRANSVERSE MARKING, THERMOPLASTIC, CROSSWALK, 6"	75	LFT	\$2.00	\$150.00	\$1.75	\$131.25	\$1,75	\$131.25	\$1.75	\$131.25
110	Handhole, Lìghting	3	EA	\$950.00	\$2,850.00	\$800.00	\$2,400.00	\$800.00	\$2,400.00	\$1,100,00	\$3,300.00
	GALVANIZED STEEL CONDUIT, 2' (LIGHTING)	695	LFT	\$20.00	\$13,900.00	\$20.00	\$13,900.00	\$20.00	\$13,900.00	\$30,00	\$20,850.00
	LIGHTING FOUNDATION, CONCRETE WITH GROUNDING, 36" x 36" x 96"	35	EA	\$1,500.00	\$52,500.00	\$1,200.00	\$42,000.00	\$1,200.00	\$42,000,00	\$1,000.00	\$35,000.00
	DECORATIVE LIGHT POLE, 32 FT	35	EA	\$3,200.00	\$112,000.00	\$2,000.00	\$70,000.00	\$2,000.00	\$70,000.00	\$2,000.00	\$70,000.00
	DECORATIVE LUMINAIRE MASTARM, ASSEMBLY, 6 FT WITH CITY OF FORT WAYNE LOGO	35	EA	\$450.00	\$15,750.00	\$3,000,00	\$105,000.00	\$3,000.00	\$105,000.00	\$2,550.00	\$89,250,00
115	DECORATIVE LED LUMINAIRE	35	EA	\$6,500.00	\$227,500.00	\$3,500,00	\$122,500.00	\$3,500.00	\$122,500.00	\$2,975.00	\$104,125.00
116	WIRE 3C/6 THWN OR THHN B, R, G (240 VOLTS)	5765	LFT	\$5.00	\$28,825.00	\$10,00	\$57,650.00	\$10.00	\$57,650.00	\$7.00	\$40,355.00
117	BERVICE POINT TYPE II	3	EA	\$6,509.00	\$19,500.00	\$6,000.00	\$18,000,00	\$6,000.00	\$18,000.00	\$2,000.00	\$6,000.00
118	GEOTEXTILE - SC-150 EROSION CONTROL BLANKET	10020	SYS	\$5.50	\$55,110.00	\$1.75	\$17,535.00	\$1.75	\$17,535.00	\$1.75	\$17,535,00
119	GEOTEXTILE - SC-250 EROSION CONTROL BLANKET	3775	sys	\$7.50	\$28,312.50	\$6,25	\$23,593.75	\$6.25	\$23,593.75	\$6.25	\$23,593.76
120	CUSTOM BIOSWALE CAREX MIX (CB1)	3775	SYS	\$0.45	\$1,698.75	\$2.00	\$7,550.00	\$2.00	\$7,550.00	\$2,00	\$7,550.00
121	DELETED	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
122	NATIVE BIOSWALE PLUGS	2380	EA	\$5.00	\$11,900.00	\$4.50	\$10,710.00	\$4.50	\$10,710.00	\$4.50	\$10,710.00
123	MPORTED TOPSOIL	2200	CYS	\$25.00	\$55,000.00	\$35.00	\$77,000.00	\$35.00	\$77,000.00	\$35.00	\$77,000,00

124 STREET TREE - B&B	150	EA	\$550.00	\$82,500,00	\$425,00	\$63,750.00	\$425.00	\$63,750.00	\$425.00	\$63,750,00
125 DELETED	0	0	\$0.00	\$0.00	\$0.00	30.00	\$0.00	\$0.00	\$0.00	\$0.00
126 DELETED	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
127 AIRPORT GATEWAY ENTRACE AND DIRECTIONAL SIGNS	1	LS	\$35,000.00	\$35,000.00	\$164,440.00	\$164,440.00	\$165,000.00	\$165,000.00	\$145,000.00	\$145,000,00
128 WORK ALLOWANCE	1	LS	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000,00
129 'AUTUMN BRILLANCE' SERVICEBERRY	3	EΑ	\$360.00	\$1,080.00	\$385.00	\$1,155.00	\$385,00	\$1,155.00	\$385.00	\$1,155.00
130 YELLOW TWIG DOGWOOD	12	EA	\$85.00	\$1,020.00	\$45.00	\$540,00	\$45.00	\$540.00	\$45.00	\$540.00
131 'ENCI' MUGO PINE	20	EA	\$75.00	\$1,500.00	\$72.00	\$1,440.00	\$72.00	\$1,440.00	\$72.00	\$1,44 0.00
132 'GRO LOW' FRAGRANT SUMAC	129	EA	\$66.00	\$8,514.00	\$39.50	\$5,095,50	\$39.50	\$5,095.50	\$39.50	\$5,095.50
133 BUTTERFLY WEED	246	EA	\$15.00	\$3,690.00	\$11.50	\$2,829.00	\$11.50	\$2,829.00	\$11.50	\$2,829.00
134 'PHENOMENAL' LAVENDER	76	EA	\$36,00	\$2,736.00	\$14.50	\$1,102.00	\$14.50	\$1,102,00	\$14.50	\$1,102.00
135 STAINLESS' DAFFODILLS	207	EA	\$3.00	\$621.00	\$4.10	\$848.70	\$4.10	\$848.70	\$4.10	\$848.70
136 'THALIA' DAFFODILLS	207	EA	\$3.00	\$621.00	\$4.10	\$848.70	\$4.10	\$848.70	\$4.10	\$848.70
137 PRAIRIE DROPSEED	566	EA	\$24.00	\$13,584,00	\$14.25	\$8,065.50	\$14.2 5	\$8,065.50	\$14.25	\$8,065.50
138 SHREDDED HARDWOOD MULCH	25	CYS	\$30,00	\$750.00	\$80.00	\$2,000.00	\$80.00	\$2,000.00	\$80.00	\$2,000.00
139 PLANTING SOIL	48	CYS	\$95.00	\$4,560.00	\$70.00	\$3,360.00	\$70.00	\$3,360,00	\$70.00	\$3,360.00
140 TURF-GRASS SEED MIX (TG1)	22264	SYS	\$1.00	\$22,264.00	\$1.50	\$33,396.00	\$1.50	\$33,396.00	\$1,50	\$33,396.00

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the Ardmore Ave award.

RFPs & BIDS

Bid/RFP#	0184N
Awarded To	E&B Paving Inc
Amount	\$3,683,397.24
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	12
Number of Bidders	
Attachments	AWARD APPROVAL AND BID TAB ANALYSIS SHEET

EXTENSIONS

Date Last Bid Out	N/A	
# Extensions Granted	N/A	1
To Date		

SPECIAL PROCUREMENT

Contract #/ID (State, Federal, PiggybackAuthority)	N/A		
Sole Source/ Compatibility Justification	N/A		

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□ No	If no, explain below	
If not lowest, explain	N/A			

COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amoun	N/A
from prior years	
For annual purchase	
(if available)	
DESCRIPTION OF PR	ROJECT / NEED
Identify need for project &	
describe project; attack	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
supporting documents as	
necessary.	
REQUEST FOR PRIO	
prior approval is being	
requested.	
FUNDING SOURCE	
Account Information.	TIF
. No.	
_	

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL Ardmore Avenue Improvements - Airport Expressway to Second St

Action Requested:

Requesting an ordinance approving the Ardmore Avenue Improvements – Airport Expressway to Second Street – resolution #0184N pursuant to the Fort Wayne Public Works and an award to E&B Paving Inc in the amount of \$3,683,397.24.

Note: E&B Paving was the lowest most responsive bidder among 3 bidders.

Description and Scope of Work:

The project includes the widening of the roadway to 3 lanes with curb and gutters along with stormwater improvements, a trail on the east side of the roadway, signal improvements and improved directional signage.

Work is to be substantially complete by November 1, 2019.